D1vISION WITH A REMAINDER IT (H - SET 1)

DIVISION WITH 10 Name:
Time: Score: A

7088 =10 = 1) 3273 + 10 =
2 8569 =+ 10 = 17 8445 + 10 =
3 7934 = 10 = 15) 9185 + 10 =
49 3051 +10 = 19 707 + 10 =
57715+ 10 = 200 645+ 10 =
6 9952 =+ 10 = 20 5711 =+ 10 =
1 4603 = 10 = 22) 8271 + 10 =
53260 =+ 10 = 23 2680 =+ 10 =
9 946 = 10 = 2) 5425 + 10 =
1001998 + 10 = 25) 3466 = 10 =
6722 + 10 = 20765 + 10 =
12) 2550 + 10 = 211093 + 10 =
13 5312 =10 = 28) 4675 + 10 =
13630 + 10 = 2) 8133 + 10 =
15 (513 + 10 = 30 678 + 10 =

Mathematics: Division - Level 8 - Horizontal - Set 1
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